| PROPOSAI TIME & DATE: |              |                  | Pipelayers, Inc.<br>7580 Grissom Rd.<br>San Antonio, TX 78251  |            | Benitez Construction, Inc.<br>13342 Old Kimbro Rd.<br>Manor, TX 78603 |            | Holloman Corporation<br>13730 IH 10 East<br>Converse, TX 78109 |            | Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa San Antonio, TX 78223 |            | Qro Mex Construction Co., Inc.<br>P.O. Box 2608<br>Granite Shoals, TX 78654 |            |             |
|-----------------------|--------------|------------------|--|------------|---|------------|--|------------|--|------------|---|------------|-------------|
| Item No.              | Estimate Qty | Unit of<br>Issue | Description  | Unit Price | Total   | Unit Price | Total  | Unit Price | Total  | Unit Price | Total   | Unit Price | Γotal       |
| 202.1                 | 50.00        | GAL              | Prime Coat   | \$6.76     | \$338.00  | \$3.00     | \$150.00   | \$6.00     | \$300.00   | \$10.00    | \$500.00  | \$10.00    | \$500.00    |
| 203.1                 | 50.00        | GAL              | Tack Coat  | \$6.76     | \$338.00  | \$4.00     | \$200.00   | \$6.00     | \$300.00   | \$10.00    | \$500.00  | \$10.00    | \$500.00    |
| 205.4                 | 1,000.00     | SY               | Hot Mixed Asphaltic Concrete Pavement "D" (2" compacted depth) | \$10.00    | \$10,000.00   | \$12.00    | \$12,000.00  | \$18.00    | \$18,000.00  | \$30.00    | \$30,000.00   | \$40.00    | \$40,000.00 |
| 206.1                 | 1,000.00     | SY               | Asphalt Treated Base - 10 inches compacted depth               | \$44.00    | \$44,000.00   | \$55.00    | \$55,000.00  | \$33.00    | \$33,000.00  | \$79.00    | \$79,000.00   | \$56.00    | \$56,000.00 |
| 500.1                 | 500.00       | LF               | Concrete Curb  | \$24.00    | \$12,000.00   | \$15.00    | \$7,500.00   | \$28.00    | \$14,000.00  | \$20.00    | \$10,000.00   | \$16.50    | \$8,250.00  |
| 500.4A                | 50.00        | LF               | Concrete Curb, Gutter, and Mountable<br>Curb                   | \$40.00    | \$2,000.00  | \$20.00    | \$1,000.00   | \$22.00    | \$1,100.00   | \$20.00    | \$1,000.00  | \$19.50    | \$975.00    |
| 502.1                 | 50.00        | SY               | Concrete Sidewalks   | \$44.00    | \$2,200.00  | \$52.00    | \$2,600.00   | \$56.00    | \$2,800.00   | \$70.00    | \$3,500.00  | \$61.00    | \$3,050.00  |
| 502.1A                | 20.00        | SY               | Exposed Aggregate Concrete Sidewalk                            | \$54.00    | \$1,080.00  | \$57.75    | \$1,155.00   | \$78.00    | \$1,560.00   | \$100.00   | \$2,000.00  | \$75.00    | \$1,500.00  |
| 503.1                 | 50.00        | SY               | Concrete Driveway  | \$44.00    | \$2,200.00  | \$62.00    | \$3,100.00   | \$56.00    | \$2,800.00   | \$75.00    | \$3,750.00  | \$85.00    | \$4,250.00  |
| 503.2                 | 20.00        | SY               | Concrete Commercial Driveway                                   | \$50.00    | \$1,000.00  | \$67.00    | \$1,340.00   | \$78.00    | \$1,560.00   | \$80.00    | \$1,600.00  | \$90.00    | \$1,800.00  |
| 550.1                 | 3,000.00     | LF               | Trench Proetection   | \$2.00     | \$6,000.00  | \$4.00     | \$12,000.00  | \$2.00     | \$6,000.00   | \$1.00     | \$3,000.00  | \$3.25     | \$9,750.00  |
| 814                   | 100.00       | LF               | 6" Ductile Iron Waterline (Restrained)                         | \$56.00    | \$5,600.00  | \$47.75    | \$4,775.00   | \$56.00    | \$5,600.00   | \$61.00    | \$6,100.00  | \$46.00    | \$4,600.00  |
| 814                   | 100.00       | LF               | 8" Ductile Iron Waterline (Restrained)                         | \$62.00    | \$6,200.00  | \$59.75    | \$5,975.00   | \$61.00    | \$6,100.00   | \$70.00    | \$7,000.00  | \$56.00    | \$5,600.00  |
| 814                   | 100.00       | LF               | 12" Ductile Irone Waterline (Restrained)                       | \$78.00    | \$7,800.00  | \$62.75    | \$6,275.00   | \$74.00    | \$7,400.00   | \$77.00    | \$7,700.00  | \$66.41    | \$6,641.00  |
| 818                   | 100.00       | LF               | 6" PVC Waterline (Restrained)                                  | \$44.00    | \$4,400.00  | \$37.75    | \$3,775.00   | \$43.00    | \$4,300.00   | \$53.00    | \$5,300.00  | \$35.00    | \$3,500.00  |
| 818                   | 2,500.00     | LF               | 8" PVC Waterline (Restrained)                                  | \$36.00    | \$90,000.00   | \$35.00    | \$87,500.00  | \$48.00    | \$120,000.00   | \$65.00    | \$162,500.00  | \$38.50    | \$96,250.00 |
| 818                   | 100.00       | LF               | 12" PVC Waterline (Restrained)                                 | \$68.00    | \$6,800.00  | \$60.00    | \$6,000.00   | \$60.00    | \$6,000.00   | \$70.00    | \$7,000.00  | \$48.00    | \$4,800.00  |
| 824                   | 2.00         | EA               | New 3/4" Short Unmetered Service                               | \$860.00   | \$1,720.00  | \$750.00   | \$1,500.00   | \$785.00   | \$1,570.00   | \$550.00   | \$1,100.00  | \$910.00   | \$1,820.00  |

| PROPOSAL TIME & DATE:  Base | л            | Contract #: C-10-002-RA SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Job Nos. 09-5113 & 09-5613 2010 IDC Water and Sewer Construction Package I 2:00 P.M. January 4, 2010 |                                       | Pipelayers, Inc.<br>7580 Grissom Rd.<br>San Antonio, TX 78251 |             | Benitez Construction, Inc.<br>13342 Old Kimbro Rd.<br>Manor, TX 78603 |             | Holloman Corporation<br>13730 IH 10 East<br>Converse, TX 78109 |             | Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa San Antonio, TX 78223 |             | Qro Mex Construction Co., Inc.<br>P.O. Box 2608<br>Granite Shoals, TX 78654 |             |
|-----------------------------|--------------|---|---------------------------------------|---|-------------|---|-------------|--|-------------|--|-------------|---|-------------|
| Item No.                    | Estimate Qty | Unit of<br>Issue  | Description                           | Unit Price  | Total       | Unit Price  | Total       | Unit Price   | Total       | Unit Price   | Total       | Unit Price  | Total       |
| 824                         | 2.00         | EA  | New 3/4" Long Unmetered Service       | \$1,200.00  | \$2,400.00  | \$1,200.00  | \$2,400.00  | \$955.00   | \$1,910.00  | \$800.00   | \$1,600.00  | \$1,050.00  | \$2,100.00  |
| 824                         | 25.00        | EA  | Relay 3/4" Short Service              | \$700.00  | \$17,500.00 | \$700.00  | \$17,500.00 | \$790.00   | \$19,750.00 | \$550.00   | \$13,750.00 | \$810.00  | \$20,250.00 |
| 824                         | 20.00        | EA  | Relay 3/4" Long Service               | \$1,120.00  | \$22,400.00 | \$1,000.00  | \$20,000.00 | \$960.00   | \$19,200.00 | \$800.00   | \$16,000.00 | \$1,050.00  | \$21,000.00 |
| 824                         | 2.00         | EA  | Relay 3/4" Long Service with PVC      | \$1,240.00  | \$2,480.00  | \$1,100.00  | \$2,200.00  | \$1,070.00   | \$2,140.00  | \$850.00   | \$1,700.00  | \$1,100.00  | \$2,200.00  |
| 824                         | 2.00         | EA  | Relay 1" Short Service                | \$760.00  | \$1,520.00  | \$750.00  | \$1,500.00  | \$860.00   | \$1,720.00  | \$600.00   | \$1,200.00  | \$1,050.00  | \$2,100.00  |
| 824                         | 4.00         | EA  | Relay 1" Long Service                 | \$1,220.00  | \$4,880.00  | \$850.00  | \$3,400.00  | \$1,080.00   | \$4,320.00  | \$900.00   | \$3,600.00  | \$1,100.00  | \$4,400.00  |
| 824                         | 2.00         | EA  | Relay 1 1/2" Long Service             | \$2,800.00  | \$5,600.00  | \$950.00  | \$1,900.00  | \$1,410.00   | \$2,820.00  | \$900.00   | \$1,800.00  | \$1,600.00  | \$3,200.00  |
| 824                         | 2.00         | EA  | Relay 2" Short Service                | \$1,800.00  | \$3,600.00  | \$1,050.00  | \$2,100.00  | \$1,210.00   | \$2,420.00  | \$1,200.00   | \$2,400.00  | \$1,750.00  | \$3,500.00  |
| 824                         | 2.00         | EA  | Relay 2" Long Service                 | \$1,900.00  | \$3,800.00  | \$1,200.00  | \$2,400.00  | \$1,810.00   | \$3,620.00  | \$1,700.00   | \$3,400.00  | \$1,900.00  | \$3,800.00  |
| 824.5                       | 60.00        | EA  | Customer Shut-Off Valve               | \$200.00  | \$12,000.00 | \$275.00  | \$16,500.00 | \$270.00   | \$16,200.00 | \$70.00  | \$4,200.00  | \$175.00  | \$10,500.00 |
| 826                         | 10.00        | EA  | Valve Box Adjustment                  | \$400.00  | \$4,000.00  | \$450.00  | \$4,500.00  | \$230.00   | \$2,300.00  | \$50.00  | \$500.00    | \$200.00  | \$2,000.00  |
| 828                         | 2.00         | EA  | 6" Gate Valve                         | \$860.00  | \$1,720.00  | \$1,000.00  | \$2,000.00  | \$930.00   | \$1,860.00  | \$900.00   | \$1,800.00  | \$850.00  | \$1,700.00  |
| 828                         | 8.00         | EA  | 8" Gate Valve                         | \$1,140.00  | \$9,120.00  | \$1,275.00  | \$10,200.00 | \$1,220.00   | \$9,760.00  | \$1,200.00   | \$9,600.00  | \$1,232.00  | \$9,856.00  |
| 828                         | 2.00         | EA  | 12" Gate Valve                        | \$2,000.00  | \$4,000.00  | \$1,500.00  | \$3,000.00  | \$2,090.00   | \$4,180.00  | \$2,100.00   | \$4,200.00  | \$2,259.00  | \$4,518.00  |
| 833                         | 60.00        | EA  | Existing Meter & Meter Box Relocation | \$200.00  | \$12,000.00 | \$425.00  | \$25,500.00 | \$570.00   | \$34,200.00 | \$50.00  | \$3,000.00  | \$250.00  | \$15,000.00 |
| 833                         | 60.00        | EA  | Meter Box                             | \$160.00  | \$9,600.00  | \$275.00  | \$16,500.00 | \$670.00   | \$40,200.00 | \$100.00   | \$6,000.00  | \$150.00  | \$9,000.00  |
| 834                         | 6.00         | EA  | Fire Hydrant                          | \$3,600.00  | \$21,600.00 | \$4,500.00  | \$27,000.00 | \$3,380.00   | \$20,280.00 | \$4,000.00   | \$24,000.00 | \$3,500.00  | \$21,000.00 |
| 836                         | 2.00         | TON   | Pipe Fittings, all sizes & types      | \$6,000.00  | \$12,000.00 | \$12,000.00   | \$24,000.00 | \$8,450.00   | \$16,900.00 | \$20.00  | \$40.00     | \$5,000.00  | \$10,000.00 |

| Solicitation#: B-09-067-RA  PROPOSAL:  TIME &  DATE:  Base Bid |              | Contract #: C-10-002-RA SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Job Nos. 09-5113 & 09-5613 2010 IDC Water and Sewer Construction Package I 2:00 P.M. January 4, 2010 |  | Pipelayers, Inc.<br>7580 Grissom Rd.<br>San Antonio, TX 78251 |             | Benitez Construction, Inc.<br>13342 Old Kimbro Rd.<br>Manor, TX 78603 |             | Holloman Corporation<br>13730 IH 10 East<br>Converse, TX 78109 |             | Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa San Antonio, TX 78223 |            | Qro Mex Construction Co., Inc.<br>P.O. Box 2608<br>Granite Shoals, TX 78654 |             |
|--|--------------|---|--|---|-------------|---|-------------|--|-------------|--|------------|---|-------------|
| Item No.   | Estimate Qty | Unit of<br>Issue  | Description  | Unit Price  | Total       | Unit Price  | Total       | Unit Price   | Total       | Unit Price   | Total      | Unit Price  | Total       |
| 840  | 4.00         | EA  | 6" Water Tie-Ins                                   | \$2,000.00  | \$8,000.00  | \$2,800.00  | \$11,200.00 | \$1,880.00   | \$7,520.00  | \$1,300.00   | \$5,200.00 | \$2,500.00  | \$10,000.00 |
| 840  | 6.00         | EA  | 8" Water Tie-Ins                                   | \$2,400.00  | \$14,400.00 | \$3,500.00  | \$21,000.00 | \$1,930.00   | \$11,580.00 | \$1,500.00   | \$9,000.00 | \$3,000.00  | \$18,000.00 |
|  |              |   |  |   | ·           |   |             |  | ·           |  |            |   |             |
| 840  | 2.00         | EA  | 12" Water Tie-Ins                                  | \$2,800.00  | \$5,600.00  | \$4,000.00  | \$8,000.00  | \$2,110.00   | \$4,220.00  | \$2,000.00   | \$4,000.00 | \$4,000.00  | \$8,000.00  |
| 841  | 5.00         | EA  | Hydrostatic Testing                                | \$1,000.00  | \$5,000.00  | \$1,200.00  | \$6,000.00  | \$2,830.00   | \$14,150.00 | \$1,200.00   | \$6,000.00 | \$1,000.00  | \$5,000.00  |
| 844  | 5.00         | EA  | 2" Blow-off, Temporary                             | \$1,400.00  | \$7,000.00  | \$1,200.00  | \$6,000.00  | \$920.00   | \$4,600.00  | \$900.00   | \$4,500.00 | \$1,800.00  | \$9,000.00  |
| 844  | 2.00         | EA  | 2" blow-off, permanent                             | \$1,600.00  | \$3,200.00  | \$2,700.00  | \$5,400.00  | \$920.00   | \$1,840.00  | \$1,200.00   | \$2,400.00 | \$2,500.00  | \$5,000.00  |
| 846  | 2.00         | EA  | 1" Air Release Assembly                            | \$1,600.00  | \$3,200.00  | \$2,900.00  | \$5,800.00  | \$2,100.00   | \$4,200.00  | \$1,100.00   | \$2,200.00 | \$2,500.00  | \$5,000.00  |
| 856.2  | 40.00        | LF  | 8" Carrier Pipe for Casing                         | \$80.00   | \$3,200.00  | \$100.00  | \$4,000.00  | \$61.00  | \$2,440.00  | \$50.00  | \$2,000.00 | \$70.00   | \$2,800.00  |
| 819  | 40.00        | LF  | 24" PVC Casing (C-905) Open-Cut Casing             | \$120.00  | \$4,800.00  | \$150.00  | \$6,000.00  | \$127.00   | \$5,080.00  | \$140.00   | \$5,600.00 | \$170.00  | \$6,800.00  |
| 858  | 10.00        | CY  | Concrete Encasements Cradle, Saddles and Collars   | \$300.00  | \$3,000.00  | \$95.00   | \$950.00    | \$113.00   | \$1,130.00  | \$150.00   | \$1,500.00 | \$250.00  | \$2,500.00  |
| 1010   | 10.00        |   | Flowable Fill                                      | \$260.00  | \$2,600.00  | \$100.00  | \$1,000.00  |  | \$790.00    | \$100.00   | \$1,000.00 | \$110.00  | \$1,100.00  |
| 1015   | 1.00         |   | 3/4" & 1" Copper Service Line Leak/Break<br>Repair | \$660.00  | \$660.00    | \$1,800.00  | \$1,800.00  | \$1,170.00   | \$1,170.00  | \$50.00  | \$50.00    | \$800.00  | \$800.00    |
| 1020   | 1.00         | EA  | 6" Main Break Repair                               | \$880.00  | \$880.00    | \$5,000.00  | \$5,000.00  | \$3,590.00   | \$3,590.00  | \$200.00   | \$200.00   | \$2,000.00  | \$2,000.00  |
| 1020   | 1.00         |   | 8" Main Break All types repair                     | \$900.00  | \$900.00    | \$5,700.00  | \$5,700.00  | \$3,660.00   | \$3,660.00  | \$300.00   | \$300.00   | \$3,000.00  | \$3,000.00  |

| PROPOSAI<br>TIME &<br>DATE: | SAN P. O. SAN TABU PROPOSAL: Job N 2010 |                  | CONIO, TEXAS 78298-2449 TION OF BIDS 9-5113 & 09-5613 Water and Sewer Construction Package I | Pipelayers, Inc.<br>7580 Grissom Rd.<br>San Antonio, TX 78251 |             | Benitez Construction, Inc.<br>13342 Old Kimbro Rd.<br>Manor, TX 78603 |             | Holloman Corporation<br>13730 IH 10 East<br>Converse, TX 78109 |             | Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa San Antonio, TX 78223 |             | Qro Mex Construction Co., Inc.<br>P.O. Box 2608<br>Granite Shoals, TX 78654 |             |
|-----------------------------|---|------------------|--|---|-------------|---|-------------|--|-------------|--|-------------|---|-------------|
| Item No.                    |   | Unit of<br>Issue | Description  | Unit Price  | Total       | Unit Price  | Total       | Unit Price   | Total       | Unit Price   | Total       | Unit Price  | Total       |
| 1020                        | 1.00                                    | EA               | 12" Main Break Repair  | \$1,100.00  | \$1,100.00  | \$6,200.00  | \$6,200.00  | \$3,700.00   | \$3,700.00  | \$400.00   | \$400.00    | \$3,800.00  | \$3,800.00  |
| 3000.14                     | 4.00                                    | EA               | Removal, Transportation and Disposal of A.C. Pipe  | \$1,200.00  | \$4,800.00  | \$1,500.00  | \$6,000.00  | \$2,510.00   | \$10,040.00 | \$1,400.00   | \$5,600.00  | \$4,000.00  | \$16,000.00 |
| 3000.14                     | 4.00                                    | EA               | Asbestos Abatement Work Plan   | \$750.00  | \$3,000.00  | \$1,000.00  | \$4,000.00  | \$450.00   | \$1,800.00  | \$500.00   | \$2,000.00  | \$7,000.00  | \$28,000.00 |
| Sai                         | nitary Sev                              | ver Bi           | d Items  |   |             |   |             |  |             |  |             |   |             |
| 202.1                       | 50.00                                   | GAL              | Prime Coat   | \$6.76  | \$338.00    | \$4.00  | \$200.00    | \$6.00   | \$300.00    | \$10.00  | \$500.00    | \$10.00   | \$500.00    |
| 203.1                       | 50.00                                   | GAL              | Tack Coat  | \$6.76  | \$338.00    | \$5.00  | \$250.00    | \$6.00   | \$300.00    | \$10.00  | \$500.00    | \$10.00   | \$500.00    |
| 205.4                       | 1,100.00                                | SY               | Hot Mixed Asphaltic Concrete Pavement "D" (2" compacted depth)                               | \$10.00   | \$11,000.00 | \$12.00   | \$13,200.00 | \$18.00  | \$19,800.00 | \$30.00  | \$33,000.00 | \$40.00   | \$44,000.00 |
| 206.1                       | 1,100.00                                | SY               | Asphalt Treated Base - 10 inches compacted depth   | \$44.00   | \$48,400.00 | \$48.00   | \$52,800.00 | \$33.00  | \$36,300.00 | \$80.00  | \$88,000.00 | \$56.00   | \$61,600.00 |
| 500.1                       | 500.00                                  | LF               | Concrete Curb  | \$24.00   | \$12,000.00 | \$15.00   | \$7,500.00  | \$28.00  | \$14,000.00 | \$20.00  | \$10,000.00 | \$16.50   | \$8,250.00  |
| 500.4A                      | 50.00                                   |                  | Concrete Curb, Gutter, and Mountable<br>Curb   | \$40.00   | \$2,000.00  | \$18.00   | \$900.00    | \$22.00  | \$1,100.00  | \$20.00  | \$1,000.00  | \$19.50   | \$975.00    |
| 502.1                       | 50.00                                   | SY               | Concrete Sidewalks   | \$44.00   | \$2,200.00  | \$50.00   | \$2,500.00  | \$56.00  | \$2,800.00  | \$70.00  | \$3,500.00  | \$61.00   | \$3,050.00  |
| 502.1A                      | 20.00                                   | SY               | Exposed Aggregate Concrete Sidewalk  | \$54.00   | \$1,080.00  | \$55.00   | \$1,100.00  | \$78.00  | \$1,560.00  | \$100.00   | \$2,000.00  | \$75.00   | \$1,500.00  |
| 503.1                       | 50.00                                   | SY               | Concrete Driveway  | \$44.00   | \$2,200.00  | \$60.00   | \$3,000.00  | \$56.00  | \$2,800.00  | \$75.00  | \$3,750.00  | \$85.00   | \$4,250.00  |

| PROPOSAL TIME & DATE: |              |                  | Pipelayers, Inc.<br>7580 Grissom Rd.<br>San Antonio, TX 78251 |            | Benitez Construction, Inc.<br>13342 Old Kimbro Rd.<br>Manor, TX 78603 |            | Holloman Corporation<br>13730 IH 10 East<br>Converse, TX 78109 |            | Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa San Antonio, TX 78223 |            | Qro Mex Construction Co., Inc.<br>P.O. Box 2608<br>Granite Shoals, TX 78654 |            |              |
|-----------------------|--------------|------------------|---|------------|---|------------|--|------------|--|------------|---|------------|--------------|
| Item No.              | Estimate Qty | Unit of<br>Issue | Description   | Unit Price | Total   | Unit Price | Total  | Unit Price | Total  | Unit Price | Total   | Unit Price | Total        |
| 503.2                 | 20.00        | SY               | Concrete Commercial Driveway                                  | \$50.00    | \$1,000.00  | \$70.00    | \$1,400.00   | \$78.00    | \$1,560.00   | \$80.00    | \$1,600.00  | \$90.00    | \$1,800.00   |
| 550.1                 | 6,100.00     | LF               | Trench Proetection  | \$3.00     | \$18,300.00   | \$4.10     | \$25,010.00  | \$2.00     | \$12,200.00  | \$3.00     | \$18,300.00   | \$3.25     | \$19,825.00  |
| 848                   | 100.00       | LF               | 8" PVC Gravity Sanitary Sewer Pipe, (0'-6' cut) ASTM 2241     | \$48.00    | \$4,800.00  | \$40.00    | \$4,000.00   | \$42.00    | \$4,200.00   | \$50.00    | \$5,000.00  | \$38.00    | \$3,800.00   |
| 848                   | 5,000.00     | LF               | 8" PVC Gravity Sanitary Sewer Pipe, (0'-6' cut)               | \$32.00    | \$160,000.00  | \$37.75    | \$188,750.00   | \$42.00    | \$210,000.00   | \$45.00    | \$225,000.00  | \$38.00    | \$190,000.00 |
| 848                   | 700.00       | LF               | 8" PVC Gravity Sanitary Sewer Pipe, (6'-<br>10' cut)          | \$44.00    | \$30,800.00   | \$47.00    | \$32,900.00  | \$42.00    | \$29,400.00  | \$52.00    | \$36,400.00   | \$47.00    | \$32,900.00  |
| 848                   | 60.00        | LF               | 8" PVC Gravity Sanitary Sewer Pipe, (10'-<br>14' Cut)         | \$74.00    | \$4,440.00  | \$55.00    | \$3,300.00   | \$42.00    | \$2,520.00   | \$77.00    | \$4,620.00  | \$52.00    | \$3,120.00   |
| 848                   | 100.00       | LF               | 12" PVC Gravity Sanitary Sewer Pipe, (0'-6' Cut)              | \$38.00    | \$3,800.00  | \$45.00    | \$4,500.00   | \$56.00    | \$5,600.00   | \$50.00    | \$5,000.00  | \$42.00    | \$4,200.00   |
| 848                   | 60.00        | LF               | 12" PVC Gravity Sanitary Sewer Pipe, (6'-<br>10' Cut)         | \$54.00    | \$3,240.00  | \$47.00    | \$2,820.00   | \$56.00    | \$3,360.00   | \$57.00    | \$3,420.00  | \$47.00    | \$2,820.00   |
| 848                   | 40.00        | LF               | 12" PVC Gravity Sanitary Sewer Pipe, (10'-14' Cut)            | \$84.00    | \$3,360.00  | \$52.00    | \$2,080.00   | \$56.00    | \$2,240.00   | \$88.00    | \$3,520.00  | \$52.00    | \$2,080.00   |
| 851                   | 10.00        | EA               | Adjusting Existing Manholes (Watertight Rings and Covers)     | \$1,600.00 | \$16,000.00   | \$1,500.00 | \$15,000.00  | \$230.00   | \$2,300.00   | \$2,300.00 | \$23,000.00   | \$2,000.00 | \$20,000.00  |
| 852.1                 | 25.00        | EA               | Sanitary Sewer Manhole (0'-6')                                | \$3,200.00 | \$80,000.00   | \$4,700.00 | \$117,500.00   | \$4,180.00 | \$104,500.00   | \$3,500.00 | \$87,500.00   | \$4,500.00 | \$112,500.00 |
| 852.2                 | 2.00         | EA               | Sanitary Sewer Drop Manhole (0'-6')                           | \$4,400.00 | \$8,800.00  | \$5,200.00 | \$10,400.00  | \$5,570.00 | \$11,140.00  | \$4,000.00 | \$8,000.00  | \$5,500.00 | \$11,000.00  |
| 852.3                 | 10.00        | VF               | Extra Depth Manholes (>6')                                    | \$600.00   | \$6,000.00  | \$400.00   | \$4,000.00   | \$365.00   | \$3,650.00   | \$200.00   | \$2,000.00  | \$350.00   | \$3,500.00   |

| PROPOSAI TIME & DATE: | L:           | SAN ANTONIO WATER SYSTEM P. O. BOX 2449 SAN ANTONIO, TEXAS 78298-2449 TABULATION OF BIDS Job Nos. 09-5113 & 09-5613 2010 IDC Water and Sewer Construction Package I 2:00 P.M. January 4, 2010 |   | Pipelayers, Inc.<br>7580 Grissom Rd.<br>San Antonio, TX 78251 |                              | Benitez Construction, Inc.<br>13342 Old Kimbro Rd.<br>Manor, TX 78603 |                            | Holloman Corporation<br>13730 IH 10 East<br>Converse, TX 78109 |                                   | Pronto Sandblasting & Coating & Oilfield Services Co., Inc. 9456 South Presa San Antonio, TX 78223 |                              | Qro Mex Construction Co., Inc.<br>P.O. Box 2608<br>Granite Shoals, TX 78654 |                              |
|-----------------------|--------------|---|---|---|------------------------------|---|----------------------------|--|-----------------------------------|--|------------------------------|---|------------------------------|
| Item No.              | Estimate Qty | Unit of<br>Issue  | Description   | Unit Price  | Total                        | Unit Price  | Total                      | Unit Price   | Total                             | Unit Price   | Total                        | Unit Price  | Total                        |
| 854<br>854.1          | 2,200.00     | LF<br>EA  | Sanitary Sewer Laterals  One-Way Sanitary Sewer Clean-Out | \$30.00<br>\$660.00   | \$66,000.00<br>\$66,000.00   | \$24.00<br>\$100.00   | \$52,800.00<br>\$10,000.00 | \$17.00<br>\$718.00  | \$37,400.00<br>\$71,800.00        | \$25.00<br>\$210.00  | \$55,000.00<br>\$21,000.00   | \$35.00<br>\$250.00   | \$77,000.00<br>\$25,000.00   |
| 858                   | 20.00        | СУ  | Concrete Encasement, Cradles, Saddles and Collars         | \$300.00  | \$6,000.00                   | \$100.00  | \$2,000.00                 | \$178.00   | \$3,560.00                        | \$150.00   | \$3,000.00                   | \$250.00  | \$5,000.00                   |
| 860                   | 10.00        | VF  | Vertical Stacks   | \$80.00   | \$800.00                     | \$90.00   | \$900.00                   | \$237.00   | \$2,370.00                        | \$15.00  | \$150.00                     | \$100.00  | \$1,000.00                   |
| 864                   | 6.00         | EA  | Bypass Pumping  | \$3,400.00  | \$20,400.00                  | \$3,500.00  | \$21,000.00                | \$6,520.00   | \$39,120.00                       | \$10,000.00  | \$60,000.00                  | \$6,000.00  | \$36,000.00                  |
| 866                   | 6,100.00     | LF  | Sewer Main Television Inspection (8"-15")                 | \$2.00  | \$12,200.00                  | \$3.00  | \$18,300.00                | \$4.00   | \$24,400.00                       | \$1.50   | \$9,150.00                   | \$3.50  | \$21,350.00                  |
| 1010                  | 10.00        | CY  | Flowable Fill  Total Bid Amount for Water & Sewer         | \$260.00  | \$2,600.00<br>\$1,019,332.00 | \$92.00   | \$920.00<br>\$1,097,525.00 | \$79.00  | \$790.00<br><b>\$1,168,750.00</b> | \$110.00   | \$1,100.00<br>\$1,197,300.00 | \$110.00  | \$1,100.00<br>\$1,221,330.00 |
| CALENDA               | AR DAYS TO C | COMPLETI  | E   |   | 365                          |   | 365                        |  | 365                               |  | 365                          |   | 365                          |